(3) SHEEROMSFIRONT
KEZEHOMGFIEORFIRTE A2 L. 2ETE H->TWa) 794 7%,
ISV 2%65.3 %$EE-TVw5, (K2-3) (RR2-1)

RERITA 5 & HREEETIE TH->TW5] 794, 0%, HEREIELIZLTi396. 3
YBEi-THH, HEETOERRBASNIEN,

M2 —3 SKUZEEBHEOWGFIF-O>WVWT

HM->TW3 oW
=l P N 94.7 I‘
RIS 94. 0
RERREALISL 96. 3

0 10 20 30 40 50 60 70 80 90 100 (%)

(4) HE - >N\ T
HE - JEORMRREAB L. 2T TH->TW5A] M. 7%, RSN
P53 YEH-TWB, (W2—-4) (R2—-1)
F&RITH 2 &, BEAES TR MH->TWwWa] 794.0%. HEHELISLTI96. 3
BEH->TWD, INHFRETOERRBA SN,

K2—-4 #HF-IEIONWT

H->TW5 SN
5.3
= 1= 94. 7 % n= 94
EADARI[LN= 94. 0 % n= 67
2o 3.7
%
R E A LIS 96. 3 % n= 27

0 10 20 30 40 50 60 70 80 90 100 (%)



